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THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMIV[E
LEVEL 03

ASSIGNMENT TEST EXAMINATION- 2011 .

QUANTITATIVE TECHNIQUES FOR MANAGEMENT-I - MCU 1207
DURATION: TWO (02) HOURS

Date-:04.09.2011 Time-: 10.00am-12.00n00n

Instructions
¢ Answer any four (04) questions.
o All gquestions carry equal marks.

QLY a (1) If x=9 and y=3evaluate the following mathematical expression.

(xz + _)2 Xx -+ y)2

(v-7)

(iiy  If x=2y then find the value of x that would make the value of
the above expression 360.

b. Simplify the following expressions.
?_
(1) y +x y _x - j (il) (albl)z (a2 —bz)
() )+ 1)(y 1) a’ (a - b}\/g
c. Factorize the following
(i) x> —4x-21 Gy x*-x*yr 4+t -y
Q2) a Solve the following equations.

@  x*-8x+15=0
(i) 3x+4y=29
x+2y=11

b. The perimeter of a rectangular block of land is 24 feet and it’s area is 27
square feet. Find the length and breadth of the block of land.

Q3) a. In an arithmetic progression (AP) the second term is 10 and the fifth term
is 31. Find the sum of first five terms.

b. In a geometric progression (GP) the first term is 2 and the fifth term is
nine times the third term. Find the sum of the first five terms.



Q4)

Q3)

Q6)

c. - Simplify the following expression.

Log(x2 )+ Log (y2 )

Log(xy)

A business concern is faced with the problem of choosing which one of two
machines should be purchased. The cost and net cash flow for the two machines
named as “A” and “B” are described below. The rate of discount is 20% and the
depreciated value of machine (A) and machine (B) after 4 years is Rs. 25,000 and
Rs. 35,000 respectively. Which machine should be purchased?

MACHINE Cash Flow
TYPE COST 1" YEAR |2"W YEAR |3 YEAR |4 YEAR
A 60,000 30,000 28,000 18,000 15,000
B 50,000 15,000 22,000 25,000 32,000
a, Find the differential coefficiznt of the following functions with respect to
-'LXB'J )
() 3x* (i) 2x*+7x+3
@) (v +4fx2+7) Gy LtA
X +7
b. If y=x+2x* +7x+3
Find 2

2

C. The variable " y" is given by the function y=3x*-18x+7
Find the value of "x" that would minimize"y".

a. Integrate the following functions with respect to"x".

a2 ()  x +5%+3
3 . 2
(i) ¥’ +— (iv) al
x x*+7
b. Evaluate the following definite integral.

TJ

x2+7x+ 4dx
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Q) a (1) If x=9 and y =3 evaluate the following mathematical expression.

(x? + 3 x4 y)
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(i)  If x =2y then find the value of x that would make the value of
the above expression 360.

b. Simplify the following exprassions.
4 202 ] 2 171 3 1 2
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+1)y-1) o (a—bWb
c. Factorize the following
(i) x* —4x-21 Gi) © x*-xPpreaxt -y
Q2) a Solve the following equations. "

(i) ¥*—8x+15=0
(1) 3x+4y=29
x+2y=11

b. The perimeter of a rectangular block of land is 24 feet and it’s area is 27
square feet. Find the length and breadth of the block of land.

Q3) a. In an arithmetic progression (AP) the second term is 10 and the fifth term
is 31. Find the sum of first five terms.

b. In a geometric progression (GP) the first term is 2 and the fifth term is
nine times the third term. Find the sum of the first five terms.
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c. - Simplify the following expression.

Log(* )+ Log(y?)

Log(xy)

A business concern is faced with the problem of choosing which one of two
machines should be purchased. The cost and net cash flow for the two machines
named as “A” and “B” are described below. The rate of discount is 20% and the
depreciated value of machine (A) and machine (B) after 4 years is Rs. 25,000 and
Rs. 35,000 respectively. Which machine should be purchased?

MACHINE . Cash Flow
TYPE COST 1" YEAR | 2"° YEAR [3® YEAR |4 YEAR
A 60,000 30,000 28,000 18,000 15,000
B 50,000 15,000 22,000 25,000 32,000
a. Find the differential coefficiznt of the following functions with respect 1o
-:LXES
(i) 3x* () 2% +7x+3
Gil) (7 +4)x>+7) (iv) " 4
x 47
b If y=x>+2x7 +Tx+3

Fina &Y
dx
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c. The variable "y" is given by the function y =3x" —18x+7
Find the value of "x" that would minimize" y".

a. Integi‘ate the following functions with respect to"x".
() 2x’ (i) x" +3x+3
;1 . 2
(iil) x +— (iv) al
" X%+

b. Evaluate the following definite integral.
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